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#include <stdio.h>
#include <stdlib.h>

extern void error(void);
extern void L(void);

void error(void)

printf ("Error!\n");
exit(1);

int t; goid V(void)
void gettoken(void) if (¢ =="'x" || t ==y || t == 2")
{ gettoken();
t = getchar(); else
} error();
¥
int main()
void A(void)
gettoken(); {
LO; if (¢ ==+ || t == ’-7)
if (t '= ’\n’) gettoken();
error(); else
printf ("OK!'\n"); error();
return 0; }
}
(Oo01(6)0000)
void P(void)
{
switch (t) {
case ’x’: case ’y’: case ’z’:
VQ;
break;
case ’(’:
gettoken();
if (t =="'x" || t ="y || t=="2"){
VO ;
while (t == ,’) {
gettoken();
V() ;
}
}
if (¢ 1= 7))
error();
gettoken();
break;
default:
error();
+
}
Ooooo 00 (Doooo)




[4/6000]
(00 I(6p)oDOOOODOO)
void E(void)

{
if (¢ ==+ || t == -7)
AQ);
VO ;
while (t == "+’ || t == =) {
AQ);
VQO;
}
}

void L(void)
{

PO ;

if (¢ !'= ’-7)
error();

gettoken();

if (¢ 1= ’>7)
error();

gettoken() ;

EQ;
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int b, n;

rev(n)

{

3

int m;

m=mn/ b;
if (m >= 1) {
int s;

s = b;

>= b

while (

’

s = * b
/ b;

Emg

=n'% b*xs + revin/ b);

return n;

main()

{

n=1;

b = 10;

while (n !'= 0) {
input n;
print rev(n);
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ADD R13,R14,R0O
LDI R11,300
CALL RO,220
EXIT R1

PUSH R13

ADD R13,R14,R0
SUBI R14,R14,4
LD R1,R13,8

LD R2,R11,0
DIV R1,R1,R2
ST R1,R13,-4
LD R1,R13,-4
LDI R2,1

SUB RO,R1,R2

JPLT RO,192
SUBI R14,R14,4

LD R1,R11,0
ST R1,R13,-8
LD R1,R13,-4
LD R2,R11,0
SUB RO,R1,R2
JPLT RO,124
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LD R1,R13,-8
LD R2,R11,0

MUL R1,R1,R2
ST R1,R13,-8
LD R1,R13,-4
LD R2,R11,0

DIV R1,R1,R2
ST R1,R13,-4

JP RO,72

LD R1,R13,8
LD R2,R11,0
MOD R1,R1,R2
LD R2,R13,-8
MUL R1,R1,R2

PUSH R1

LD R1,R13,8
LD R2,R11,0
DIV R1,R1,R2
PUSH R1

CALL RO,| 16

ADDI R14,R14,4
ADD R2,R1,RO
POP R1

ADD R1,R1,R2
ST R1,R13,8
ADDI R14,R14,4
LD R1,R13,8

ADD R14,R13,R0O

POP R13
POP R15
ADDI R14,R14,4
POP R13
POP R15

PUSH R13
ADD R13,R14,R0O

LDI R1,1
ST R1,R11,4
LDI R1,10

ST R1,R11,0
LD R1,R11,4
LDI R2,0

SUB RO,R1,R2

JPE RO,292

IN R1

ST R1,R11,4

LD R1,R11,4
PUSH R1

CALL RO, 16
ADDI R14,R14,4
OUT R1

JP RO,244

POP R13

POP R15
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